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The diagram shows three touching circles A, B and C, with a common tangent PQR.
The radii of the circles are a, b and ¢, respectively.

Show that
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Instead, let a, b and ¢ be positive numbers, with b < ¢ < a, which satisfy (*x). Show
that they also satisfy (*).
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The diagram shows three touching circles A, B and C, with a common tangent PQR.
The radii of the circles are a, b and ¢, respectively.

Show that
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Instead, let a, b and ¢ be positive numbers, with b < ¢ < a, which satisfy (*x). Show
that they also satisfy (x).

and deduce that
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Show that
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AI_ The diagram shows three touching circles A, B and C, with a common tangent PQR.
UThe radii of the circles are a, b and ¢, respectively.
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(ii) TInstead, let @, b and ¢ be positive numbers, with b < ¢ < a, which satisfy (xx). Show
that they also satisfy (*).
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Show that
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(ii) Instead, let a, b and ¢ be positive numbers, with b < ¢ < a, which satisfy (#2). Show
that they also satisfy («).
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The diagram shows three touching circles A, B and C, with a common tangent PQR.
The radii of the circles are a, b and ¢, respectively.
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(ii) Instead, let a, b and ¢ b@numbers, with b < ¢ < a, which satisfy (##). Show
that they also satisfy (*).
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